GREZITY K A ()
iFIE] 90 Jp4
—. EPF (3 g, L 244))

1. wF M A5BHSFR, P(A)>0,P(B)>0, W FHIgier—E M rif .

(A) A 5B HRHZ: (B) A, B AXHEHM
(C) A5 BAHEIL ; (D) A B AR

2. —EEBAA 5 AIEM, 2 N, ARIEHER 3 A, Hh &/ 2 A IE RN .
(A) 2/7; (B) 4/7; (C)5/7; (D) 6/7.

3. NS REMIMEE R 0. 75, FATEHE B E, WS HRECR 3 RN .
(A) (0.75)%; (B) 0.75(0.25)?; (C)0.25(0.75)%; (D) (0.25)°.

4. HIS R ER AT RSN RENLAZ R X 70 A R L A

(A) F(x)=sinx; (B) F(x)= 12;
1+x
1 <0 0 (x<0),
(CIFO) =1 Toyz X=0), (D) F(O={11 (0<x<1),.
1 (x>0); 1 (x>1);

5. whENLEE X ~B(,p), Y ~x(4), H XY MHEHS, WX +Y .
(A) R4yl & (B) & —4EpnlAeE,

(C) IR 530 5 (D) RAEFA 7 A

(o))

. WBEHLERE X AEHR: P(X =a)=06, P(X =b)=p, (a<b). XE(X)=14
D(X)=0.24, M a,bfafin .
(A) a=1 b=2 ; (B) a=-, b=2 :

(C) a=l b=-2; (D) a=0, b=1.



T WXy, Xy, oo, X R A RS N (1,) F—ANFEBBENLREA, X, S? 2 BIAREA 218
SHAT 2, N

(A) X ~N(0,1): (B) DX, -X)'~ 2 ()
5 2 _ .2 ) X ~ _
© L~ = £'(n); ) 57— "t D).

8. fEH Mk, H o vgHEsmBstakt, FREEKrya, W

(A) P(Téi(%HolHoEEj):a; (B) P(:J%E%HJHIEEL‘—L):O(;
(C) P XH,|HJKL) = a; (D) P(#%ZH,|HK)=a.

Z. HAE (85 55, 330 4)
1. #P(A)=3P(B)=2/3, A 5B#REEMMELE A 5 BRI KERMER 2 £,
m P(A-B)=__ .
2. % A B HNMBENHLE, 4 P(A)=0.7=0.3+P(B), P(AUB)=0.8, I
P(A|AUB)=
1/3  (0<x<1),

3. N R X S ERECN: f(X)=4 2/9 (3<x<6),
0 (H Aih).

ke P(X > k) =273, K f s e 2
4. VEBENLASE X ~ N(L.04, 1), ©&1P(X <3)=0.975, I P(X <-0.92) =

5. VBN XY W2 D(X)=4,D(Y)=1, DBX -2Y)=28, p, =

6. B X ~U(0, ), X, X, X NERE—MEAR, NWERFZSHO it &

N s KRG TN




=, EE (S 10 4y, 340 4)
1. FEd o w22 e i B B SRR B2 /1 3 R L) AR (Bedls WaR) , B R
i HP AT A — G A 56 R BN U (B SAE A, IR R & B B A R .

(1 R P(A; 2) ARBRERFHR] SRR T RErE oK ?

S Rl AL UGEES
1 0.15 0.03
2 0. 60 0.01
3 0.25 0.02

2. WhEPLAERE (XY ) MBS HEREC

3x (0<x<1,0<y<Xx),
f(x'y):{ 0 Gt ),

(D RivgEEws f, ()5 f,(y);
(2) X 5Y EEMEM? N4

() HHP(X+Y >1).

3. RERAMEM ARERIMEA p. 5 ARE, REA A ERELBRE M Jo. A= 1
WL R 0.05 M Jo, AT ESRIRE LN Z DR ?

3. WHlesAzht s, WRHAREHAEEMRMIES A, MUERARER RIFRE 5y 500 72,

pRAEZEARER 10 7o FRIT LA, N7 RIBHLE 2 G IR TE, NoaetReifaiih

BEMLIEL 9 45, W78 X =499, S?=16.03%. liXxFK HEhaEH TIEE B IEH (o =0.05)?
BUkS: (1 Hy:u=500, H,:u=500; (2) H,:0°<10% H,:0° >10%

t 025 (8) = 2.306, ty s (9) = 2.262 1 05’ (8) =17.535, y, 005 (9) =19.023
t,05(8) =1.8595, 1, . (9) =1.8331 y, .5 (8) =15.507, 7,05 (9) =16.919

VY. TEBE (6 4))
Ptk Ay By C RN RAEL S8H# D R4, iEW: P(A)+P(B)+P(C)<2+P(D).



